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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&
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1)	 (i)	 Explain why Zn, Cd and Hg are not considered as transition 

elements?

		  ~VmBE {H$ Zn, Cd d Hg  H$mo g§H«$‘U VËd ³¶m| Zht ‘mZVo?

	 (ii)	 What is the general electronic configuration of third 

transition series elements?

		  V¥Vr¶ g§H«$‘U loUr VËdm| H$m gm‘mÝ¶ Bbo³Q´>m°{ZH$ [~Ý¶mg ³¶m hmoVm 
h¡?

	 (iii)	 Define electrode potential?

		  Bbo³Q´>moS> {d^d H$mo n[a^m{fV H$s{OE?

	 (iv)	 What is ligand?

		  {bJ¡ÊS> ³¶m hmoVo h¢?

	 (v)	 Write electronic configuration of cerium (58) and 

gadolinium (64).

		  gr[a¶‘ (58) Am¡a J¡S>mo{b{Z¶‘ (64) Ho$ Bbo³Q´>m{ZH$ {dÝ¶mg 
{b{IE&

	 (vi)	 Name last four transuranium elements?

		  A[ÝV‘ Mma Q´>mÝg¶wao{Z¶‘ VËdm| Ho$ Zm‘ {b{IE?

	 (vii)	Write name of a compound which acts as an acid as well 

as base?

		  EH$ nXmW© H$m Zm‘ ~VmBE Omo Aåb d jma XmoZm| H$s ^m§{V ì¶dhma 
H$aVm hmo?
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	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 3.5 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Explain

	 ñnï> H$s{OE:
	 (i) 	 Mn2+ ion is more stable than Mn3+ ion.

		  Mn2+ Am¶Z Mn3+ Am¶Z go A{YH$ ñWm¶r h¡&
	 (ii) 	 Cu+  ion are colourless and Cu2+ ions are coloured.

		  Cu+ Am¶Z a§JhrZ VWm Cu2+ Am¶Z a§JrZ hmoVo h¢&

3)	 Write a short note on Disproportionation and 
comproportionation.

	 Ag‘mZwnmVZ VWm g‘mZwnmVZ ¶moJ na g§{já {Q>ßnUr {b{IE&

4)	 Differentiate between inner orbital and outer orbital complexes 
taking suitable examples?

	 Cn¶wº$ CXmhaU Ûmam AmÝV[aH$ H$jH$ VWm ~mø H$jH$ g§Hw$bm| ‘| A§Va 
~VmBE&

5)	 Discuss ion exchange method used for seperation of 
lanthanides?

	 b¡ÝWmoZmB‹S>mo Ho$ n¥W¸$aU Ho$ {bE à¶wº$ Am¶Z {d{Z‘¶ {d{Y H$s {ddoMZm 
H$s{OE&

6)	 Explain Lewis theory of acids and bases?

	 Aåbm| d jmam| Ho$ byBg {gÕmÝV H$s ì¶m»¶m H$s{OE?
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7)	 Explain with suitable example ionising and non ionising 

solvent?

	 Am¶ZH$mar d AZ-Am¶ZH$mar {dbm¶H$ H$mo Cn¶wº$ CXmhaU g{hV 
g‘PmBE?

8)	 Discuss the oxidation states and electronic configuration of 

actinides?

	 Eop³Q>ZmBS>m| H$s Am°³grH$aU AdñWmE± d Bbo³Q´>m°{ZH$ {dÝ¶mg H$s {ddoMZm 
H$s{OE&

9)	 Explain geometrical isomerism in octahedral complexes?

	 Aï>’$bH$s¶ g§Hw$bm| H$s Á¶m{‘Vr¶ g‘md¶dVm H$mo g‘PmBE&

	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
7 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Discuss the general characteristics of transition metals with 

respect to the following:

	 (i)	 Complex formation

	 (ii)	 Magnetic properties

	 (iii)	 Ionic and covalent radii.
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	 {ZåZ{b{IV Ho$ g§X^© ‘| g§H«$‘U VËdm| Ho$ gm‘mÝ¶ bjUm| H$s {ddoMZm 
H$s{OE&

	 (i)	 g§Hw$b {Z‘m©U
	 (ii)	 Mwå~H$s¶ JwU
	 (iii)	 Am¶{ZH$ d ghg§¶moOH$ {ÌÁ¶m

11)	 What are lanthanides? What do you understand by lanthanide, 
contraction? Explain its consequences:

	 b¡ÝWoZmBS> ³¶m hmoVo h¢? b¡ÝWoZmBS> g§Hw$MZ go AmnH$m ³¶m A{^àm¶ h¡? 
BgHo$ n[aUm‘ g‘PmBE&

12)	 Write short notes on the following:

	 (i)	 Electroneutrality principle

	 (ii)	 Effective Atomic Number rule.

	 {ZåZ na g§{já {Q>ßn{U¶m± {b{IE:
	 (i)	 {dÚwV CXmgrZVm {gÕmÝV
	 (ii)	 à^mdr na‘mUw g§»¶m {Z¶‘

13)	 Explain with suitable examples the following types of reactions 
in liquid ammonia:

	 (i)	 Precipitation reaction.
	 (ii)	 Acid base reaction.
	 (iii)	 Metal ammonia solution.

	 A‘mo{Z¶m Ðd ‘| {ZåZ àH$ma H$s A{^{H«$¶mAm| H$mo C{MV CXmhaU g{hV 
g‘PmBE:

	 (i)	 AdjonU A{^{H«$¶m
	 (ii)	 Aåb-jma A{^{H«$¶m
	 (iii)	 YmVw-A‘mo{Z¶m {db¶Z


